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AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;01

									         	 gFjp - A
FWNehf;F tpdhf;fhd tpilfs; (OTQs)
vl;L (8) fl;lha tpdhf;fs;

(nkhj;jk; 20 Gs;spfs;)

tpdh 1w;;fhd ghpe;;Jiuf;;;fg;;gl;l tpilfs;

1.1	 – (2)		  (02 Gs;spfs;)
1.2	 – (1)		  (02 Gs;spfs;)
1.3	 – (3)		  (02 Gs;spfs;)
1.4	  - (3)		  (02 Gs;spfs;)
1.5	 – (2)		  (02 Gs;spfs;)

1.6	
	 i. 	 gfpu;e;jspj;jy;

	 ii. 	 mrhjhuz ,yhgk;

	 iii. 	 G+r;rpa mbg;gilg; ghjPL	 (03 Gs;spfs;)

1.7	 1. 	 c
	 2. 	 a
	 3. 	 b	 (03 Gs;spfs;)

1.8	 1. 	 jtW

	 2. 	 rup

	 3. 	 jtW

	 4. 	 rup	 (04 Gs;spfs;)

,yq;if fzf;fPl;Lj; njhopy; El;gtpayhsu; fofk;

fy;tp kw;Wk; gapw;rpg; gpupT

AA2 guPl;ir – [_iy  2018
(AA 22) fpua fzf;fPLk; mwpf;ifaplYk;

gupe;Jiuf;fg;gl;l tpilfs;

gpupT  A  ,d; epiwT



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;02

tpdh 2w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

a)	 Objectives of cost accounting 
	 •	 nghUs; xd;wpw;fhd fpuaj;ij epu;zapj;jYk; fpua $w;wpid toq;fYk;

	 •	 ghjPl;bw;F fpua jfty;fis toq;fy;
	 •	 tpiyiaj; jPu;khdpf;f fpua jfty;fis toq;fy;
	 •	 fpuaf; fl;Lg;ghL
	 • 	toikahd tpahghu eltbf;iffis jpl;lkplTk; fl;Lg;gLj;jTk; cjTtjw;F

(02 Gs;spfs;)
b)

gpd;tUtd 

njhlu;gpy;

epjpf; fzf;fPL fpuaf; fzf;fPL

1 fhyk; xU Fwpg;gpl;l fhyg; gFjpf;fhd

nfhLf;fy; thq;fy;fs; gjpT nra;ag;

gl;L $w;Wf;fs; jahupf;fg;gLfpd;wd.

nfhLf;fy; thqf; y;fs; fpua 

myF / fpua tplaj;Jld; mi-

lahsq; fhzg;gLfpd;wd.

2 nfhLf;fy; thq;fy;

fspd; msT

tpahghuk; KOikapdJk; nfhLf;fy;

thq;fy;fs; vLf;fg;gLfpd;wd.

nfhLf;fy; thqf; y;fspd; xU 

gFjp kl;Lk; vLf;fg;gLfpd;wd.

c + k; cw;gj;jp

3 Nehf;fk; nrawg; hlb; d; ngWNgwi; wAk; 

tpahghuj;jpd; epjp epiyikiaAk; 

mspg;gjw;fhfj; jahupf;fg;gLfpd;wd.

rupahd jpl;lkply;> fl;Lg;ghL

kw;Wk; jPu;khdnkLj;jYf;F Kfh

ikf;F cjTtij Nehf;fkhff;

nfhz;Ls;sJ.

4 nryTfspd;

gFg;gha;T

njhopw;ghL uPjpahf nryTfs; gFg;

gha;T nra;ag;gLfpd;wd.

NtWgll; mbgg; ilfspy; nryT-

fs; gFg;gha;T nra;ag;gLfpd;wd.

c + k; Neu; kw;Wk; Neupy;> khWk;
kw;Wk; epiyahd Nghd;wit.

5 tpidj;jpwd KOikahd ngWNgW kwWk; 

tpahghuj;jpd; epjpepiyik epjpf; $wW 

ff; s; %yk; ntspg;gLj;jg;gLfpd;wd.

xt;nthU jpizf;fsk;> fpua

myF> Ntiy my;yJ nra;Kiw

Mfpatw;wpd; ,yhgj;jd;ikia

,J gFg;gha;T nra;fpd;wJ.

6 %yg;nghUs;

fl;Lg;ghL

,J %yg;nghUs; ifahsypy;

tpidj;jpwd; / tpidj;jpwdpdik 

gw;wpvJTk; $Wtjpy;iy. (fhuzk; 

vz;fs; nkhj;jj; njhifahf 

cs;sd)

,J nfhst; dT> fsQ;rpagg; 

Ljj;y>; tpepNahfk; Nghd;wit 

rk;gej; khd xOqF; Kiwfis 

$Wtjd; %yk; rpwe;j nghUlf; 

l;Lgg; hl;L Kiwik nahd;iw 

mspf;fpwJ.

7 Kiwikapd;

Rje;jpukhd jd;ik

,J fpuaf; fzf;fPl;by; jq;fpapUg;

gjpy;iy mjhtJ fpuaf; fzf;fPl;L

Kiwik ,y;yhj ,lj;jpYk; ,J

Ntiy nra;Ak;.

,J epjpf; fzf;fPlLj; jftyf; 

spy; jq;fpAs;sJ.

										           gFjp - B
Ie;J fl;lha tpdhf;fs;

(nkhj;jk; 25 Gs;spfs;)

jPu;khdk; vLg;gjw;F jfty;fis 

toq;Fjy;}



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;03

8 ngWNgWfis

,zf;fg;gLj;jy;

,jw;F ,zf;fg;gLj;jy;fs; Njit

apy;iy

,yhgj;ij epjpg;gjpNtLfSld;

,zf;fg;gLj;j Ntz;ba Njit

,jw;F cs;sJ.

9 tpuaq;fs; mj;jifa tplaq;fs; ,q;F ,y;iy. tpuaq;fs; kw;Wk; ,og;Gfs;

milahsg; gLj;jg;gl;L rhjhuz>

mrhjhuz vd tifg;gLj;jg;

gLfpd;wd.

10 nfhLf;fy;

thq;fy;fs;

,jpy; cz;ikahd epfo;T ,jpy; xU gFjp cz;ik epfo;

Tfs; kw;Wk; xU gFjp kjpg;gPLfs.;

11 ,Ug;G

ngWkjpaply;

,Ug;Gfs; \\fpua tpiy|| my;yJ

|Njwf;$ba ngWkjp|| ,tw;wpy; vJ

Fiwej; Njh mjpy; ngWkjpaplg; 

gLfpwJ.

,Ug;Gfs; fpuaj;jpy; ngWkjpaplg;

gLfpd;wd.

12 rl;lj; Njitfs; gyN; tW rl;lqf; is mDrupff; 

Ntzb;Ass;J. c+k; fkg; dpr;rll;k.; 
tUkhd tupr;rl;lk;> fzf;fPl;L 

epakq;fs; Nghd;wit.

Kfhikapd; Njitfis epiw

Ntw;Wk; nghUl;L ,jd; gjpTfs;

nghJthf guhkupf;fg;gLfpd;wd.

(02 Gs;spfs;)

(nkhj;jk; 05 Gs;spfs;)

tpdh 3w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

(05 Gs;spfs;)

jpfjp tpguk; 

ngWtdTfs; toq;fy;fs; kPjp 

njhif tpiy ngWkjp njhif tpiy ngWkjp njhif tpiy ngWkjp 

01-06-18 Muk;g kPjp 
      

1,000 15 15,000 
01-06-18 nfhs;tdT 500 18 9,000 

   
1,000 15 15,000 

    
      

500 18 9,000 
    

      
1,500 

 
24,000 

15-06-18 toq;fy;fs; 
   

750 15 11,250 250 15 3,750 
    

      
500 18 9,000 

    
      

750 
 

12,750 
24-06-18 nfhs;tdT 200 20 4,000 

   
250 15 3,750 

    
      

500 18 9,000 
    

      
200 20 4,000 

    
      

950 
 

16,750 
28-06-18 toq;fy;fs 

   
250 15 3,750 

       
   

500 18 9,000 
       

   
50 20 1,000 

       
   

800 
 

13,750 150 20 3,000 
 



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;

tpdh 4w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

(05 Gs;spfs;)

tpdh 5w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

njhFjp ,y 1010 ,w;fhd fpuak; 			   &gh

Neu; %yg; nghUs; 			   300,000
Neu; $yp - ntl;Ljy; 1,000 kzpj;jpahyq;fs; @ 500/= 	 500,000
        - G+u;j;jp nra;jy; 1,500 kzpj;jpahyq;fs; @120/= 	 180,000
				    680,000
Nke;jiy - ntl;Ljy; 1,000 kzpj;jpahyq;fs; @25/= 	 25,000
        - G+u;j;jp nra;jy; 1,500 kzpj;jpahyq;fs; @60/= 	 90,000
				    115,000
cw;gj;jpf; fpuak; 			   1,095,000

myFf;fhd fpuak; 	                       = 1,095.000 / 1,000
		  = 1,095

(05 Gs;spfs;)

04

nkhj;j ciog;G 

 
X 

 
Y 

cw;gj;jp nra;j myFfs; 

 
80 

 
120 

mynfhd;wpw;fhd Jz;L tPjk; 

 
50 

 
50 

ciog;G 

 
4,000 

 
6,000 

cw;gj;jp nra;j 
myFfSf;fhd epak Neuk; 
(kzpj;jpahyq;fs;) 

80 * 30 
epkplq;fs; / 60 

epkplq;fs; 40 

120 * 30 
epkplq;fs; / 60 

epkplq;fs; 60 
Ntiy nra;j 
kzpj;jpahyq;fs; (9 
kzpj;jpahyak; * 5 ehl;fs;) 9h*5d 45 9h*5d 45 
Nrkpj;j kzpj;jpahyq;fs; 

 
- 

 
15 

cgfhug; gzk; 

 
- 15Hrs*50%*&100 750 

nkhj;j ciog;G 

 
4,000 

 
6,750 

 



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;

gpupT  B  ,d; epiwT

05

tpdh 6w;;;fhd ghpe;;;Jiuf;;fg;gl;l tpilfs;

(05 Gs;spfs;)

 
a rkg;ghl;Lg; 

Gs;sp 
myFfspy 

= epiyahd fpuak; 
= 

1,500,000 

 
 gq;fspg;G 3 

    = 500,000 myFfs 

          
b rkg;ghl;Lg; 

Gs;sp 
myFfspy 

= epiyahd fpuak; 
= 

1,500,000 

 
 gq;fspgG; tpw;gid tjPk; 6.00% 

    = &gh.  25,000,000 

    
 

my;yJ 
  

 
       

 

rkg;ghl;Lg; 
Gs;sp 
myFfspy 

= 
rkg;ghl;Lg; Gs;sp 

myFfspy * myFf;fhd 
tpw;gid tpiy 

= 
500,000*50 

 
 

 
 

 
    

= &gh. 25,000,000 

    
  

c) 

ghJfhg;G 
vy;iy 
myFfspy = 

ghjplg;gl;l tpw;gid 
myFfs; - rkghl;Lg; Gs;sp 

= 700,000 (nra;if 1) - 
500,000 

    
 

 
    

= 200,000 myFfs 
 
 
nra;if 1 

    
ghjplg;gl;l myFfs; = epiyahd fpuak vjpu; ghh; 

f; fg; gLk; ,yhgk; = 1,500,000 + 600,000 

 
 gq; fspg; G 3 

   = 700,000 

    



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;06

										           gFjp - C
%d;W fl;lha tpdhf;fs; 

(nkhj;jk; 30 Gs;sp)

tpdh 7w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;

a)

b)

c)

d)

	

(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

(04 Gs;spfs;)

%yg; nghUs; ,Ug;Gf; fl;Lg;ghl;Lf; fzf;F 

jpfjp tpguk; njhif&gh jpfjp tpguk; njhif&gh 

01-A+d;-18 kPjp.fP.nfh.t 550,000 A+d;-18 toq;fy;fs; 750,000 
A+d;-18 nfhs;tdT 645,000 30-A+d;-18 kPjp.fP.nfh.nr 445,000 

  
1,195,000 

  
1,195,000 

      
      Gj;JUthFk; Ntiy (WIP) fl;Lg;ghl;Lf; fzf;F 
jpfjp tpguk; njhif&gh jpfjp tpguk; njhif&gh 

01-A+d;-18 kPjp.fP.nfh.t 280,000 A+d;-18 KbTg;nghUs; 1,500,000 
A+d;-18 %yg;nghUs; 750,000 

   A+d;-18 $ypfs; flLg;ghL 470,000 
   A+d;-18 Nke;jiyfs; 560,000 30-A+d;-18 kPjp.fP.nfh.nr 560,000 

  
2,060,000 

  
2,060,000 

      KbTg; nghUs; fl;Lg;ghl;Lf; fzf;F 

jpfjp tpguk; njhif&gh jpfjp tpguk; njhif&gh 

01-A+d;-18 kPjp.fP.nfh.t 150,000 A+d;-18 tpw;gidf;fpuak; 1,250,000 

A+d;-18 
Gj;JUthFk; 
Ntiy 1,500,000 30-06-18 kPjp.fP.nfh.nr 400,000 

  
1,650,000 

  
1,650,000 

      
      cw;gj;jp Nke;jiyfs; fl;lLg;ghl;Lf; fzf;F 

jpfjp tpguk; njhif&gh jpfjp tpguk; njhif&gh 

01-A+d;-18 kPjp.fP.nfh.t - A+d;-18 
Gj;JUthFk; 
Ntiy 560,000 

A+d;-18 
,aj;jpug; 
guhkupg;G 95,000 

   
A+d;-18 

Nkw;ghh;itahsu; 
rk;gsk; 90,000 

   
A+d;-18 

nghwp kPjhd 
ngWkhdNja;T 175,000 

   
A+d;-18 

cw;gj;jp 
Nke;jiyfs; 200,000 30- A+d;-18 kPjp.fP.nfh.nr - 

  
560,000 

  
560,000 

  
  

    
 
vLNfhs;: 
cw;gj;jp Nke;jiyf;fpuakhdJ cw;gj;jp nghUs; kPJ cz;ik mbg;gilapy; (Actual Basis) 
cs;slf;fg;gl;Ls;sJ. 



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;07

tpdh 8w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;

(10 Gs;spfs;)

a) 
nrad;Kiw 1 fzf;F 

tpguk; njhif nghWkjp tpguk; njhif nghWkjp 

Neu; %yg; 
nghUs; 

125,000 1,250,000 nrad;Kiw II 
,w;fhd ntspaPL 
(nra;if -3) 110,000 2,420,000 

Neu;f; $yp 
cw;gj;jp - 800,000 rhjhuz el;lk; 12,500 125,000 

Nke;jiyfs; - 550,000 
mrhjhuz el;lk; 
(nra;if 1>3) 2,500 55,000 

  
       125,000 2,600,000 

 
125,000 2,600,000 

 
 
nra;if -1 

  nrad;Kiw 1 ,d; cs;sPL 

 
125,000 

rhjhuz el;lk; @10% 
 

(12,500) 
vjpu;ghh;f;fg;gl;l ntspaPL 

 
112,500 

cz;ikahd cw;gj;jp 

 
(110,000) 

mrhjhuz el;lk; 

 
        2,500 

 
 
nra;if -2 

   nrad;Kiw 1 ,d; myFf; fpuak; = cs;sPLfspd; fpuak; - xbT ngWkjp 

  
vjpu;ghh;f;fg;gl;lntspaPL 

  
2,600,000 -(12,500*10) 

  
112,500 

  
22 

  
 
nra;if -3 

  ntspaPLfspd; fpuak; 110,000*22 2,420,000 
mrhjhuz el;lj;jpd; fpuak; 2,500*22 55,000 
 



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;

tpdh 9w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;

a)

mbg;gil
cw;gj;jpg;gpupTfs; Nritg; gpupTfs;

BM 01 IM 02 S 01 S 02
Neupy; nghUl;fs; 500,000 805,000 200,000 100,000
Neupy; $ypfs; 1,000,000 1,000,000 300,000 500,000
ngWkhdj;Nja;T ,ae;jpuj;jpd; ngWkjp 800,000 500,000 100,000 100,000
fhg;GWjp epyg;gug;G 100,000 150,000 50,000 75,000
thlif epyg;gug;G 200,000 300,000 100,000 150,000
Copau; Nrkeyd Copau; vz;zpf;if 150,000 150,000 50,000 75,000

2,750,000 2,905,000 800,000 1,000,000
S 01 320,000 480,000 (800,000) -
S 02 700,000 300,000 - (1,000,000)

3,770,000 3,685,000 - -

(08 Gs;spfs;)

b)	 Nke;jiy cwpQ;ry;tPjk;		  =	 3,770,000		  3,685,000

							          18,000		    18,000

						      =	 209.44 per hour	 204.72 per hour

(02 Gs;spfs;)

(nkhj;jk; 10 Gs;spfs;)

	
		

08

gpupT  C  ,d; epiwT



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;09

										           gFjp - D
xU fl;lha tpdh

(nkhj;jk; 25 Gs;spfs;)

tpdh 10w;fhd ghpe;Jiuf;;fg;gl;l tpilfs;

a) 	 tpw;gid ghjPL 	 nghUs; A

	 ghjplg;gl;l tpw;gid (myFfs;) 	 15,000

	 ghjplg;gl;l tpw;gid tpiy 	 500

	 ghjplg;gll tpw;gid 	 7,500,000

(02 Gs;spfs;)

b) 	 cw;gj;jpg; ghjPL 	 nghUs; A

	 ghjplg;gl;l tpw;gid myFfs; 	 15,000

	 (+) ,Wjp ,Ug;G 	 1,550

	 nkhj;j Njit 	 16,550

	 (-) Muk;g ,Ug;G 	 (750)

	 ghjplg;gl;l cw;gj;jp myFfs; 	 15,800

(02 Gs;spfs;)

c) 	 %yg;nghUs; ghtid ghjPL 	 nghUs; A

	 ghjplg;gl;l tpw;gid myFfs; 	 15,800

	 xU myfpw;fhd %yg;nghUs; Njit 	 2.5kg

	 ghjplg;gl;l %yg;nghUs; ghtid 	 39,500kg

(02 Gs;spfs;)

d) 	 %yg;nghUs; nfhs;tdT ghjPL 	 nghUs; A

	 ghjplg;gl;l %yg;nghUs; ghtid (kg) 	 39,500

	 (+) ,Wjp ,Ug;G (kg) 	 6,250

	 nkhj;j Njit (kg) 	 45,750

	 (-) Muk;g ,Ug;G (kg) 	 (10,000)

	 ghjplg;gl;l %yg;nghUs; nfhs;tdT 	 35,750

(02 Gs;spfs;)

e) 	 Neu;f; $ypf; fpuag; ghjPL 	 nghUs; A

	 ghjplg;gl;l cw;gj;jp myFfs; 	 15,800

	 xU myfpw;fhd Neu;f;$yp kzpj;jpahyq;fs; 	 3

	 Njitg;gLk; kzpj;jpahyq;fs; 	 47,400

	 kzpj;jpahyj;jpw;fhd $yp 	 50

	 ghjplg;gl;l Neu;f;$ypf; fpuak;                    &gh 	 2,370.000

(02 Gs;spfs;)



AA2 / CAR fpua fzf;fPLk; mwpf;ifaplYk;10

(02 Gs;spfs;)

(03 Gs;spfs;)

(02 Gs;spfs;)

b)	 i)	 Neu; nghUs; tpiy	 =	 nfhs;tdT 	 x 	 (epaktpiy - cz;iktpiy)
		  Kuz;		  nra;ag;gl;l %yg;nghUs;

			   =	 2,050 x (250 - 245)
			   =	 10,250 	 rhjfk;

	 ii)	 Neu; nghUs; ghtid	 =	 epaktpiy	 x	 (epakghtid - cz;ikghtid)
		  Kuz;	
			   =	 250 x ((400 x 5) - 2,050)
			   =	 250 (50)
			   =	 12,500 	 ghjfk;

B) 
 

a) Difference between standard costing and budgeting 
 
 ghjPbly; epakf;fpuatpay; 

1 
,J tpahghuk; KOtJlDk; my;yJ 
jpizf;fs nraw;ghl;Lld; njhlu;GgLtjhy;> 
,jd; gpuNahfk; tpupthdjhFk;. 
 

,J cw;gj;jp nra;ag;gLfpd;w xU nghUs; 
my;yJ mspf;fg;gLfpd;w xU Nritf;F 
gpuNahfpf;fg;gLtjdhy; kpf MokhdJ. 

2 
ghjPLfs; tpw;gid> cw;gj;jp fhR 
Nghd;wtdtw;Wf;F jahupf;fg;gLfpwJ. 
 

,jd; Mw;wy; mynfhd;wpw;fhd fpuaj;ij 
Kd;dNu jPu;khdpj;jy;. 

3 
,J epjpf;fzf;fpaypd; xU gFjpahFk;. 
(vy;yh epjpf;fzf;fPLfspdJk; jpl;lkply;) 
 

,J fpuaf;fzf;Ffspd; xU gfjpahFk;. 
(vy;yh fpuaf;fzf;fPLfspdJk; jpl;lkply;) 

4 

ghjPL kw;Wk; cz;ikahd fzf;Ffis 
ftdj;jpy; nfhs;tjd; %yk; fl;Lg;ghL Nkw; 
nfhs;sg;gLfpwJ. Kuz;fs; fzf;Ff 
spD}lhf ntspg;gLj;jg;gLtjpy;iy. 
 

Kuz;fs; NtWgl;l fzf;FfspD}lhf 
ntspg;gLj;jg;gLfpwJ. 

5 ghjbP ly; gFjpfshfg; gpuNahfpf;fgg;l 
KbAk.; 

,J gFjpfshfg; gpuNahfpf;fg;gl 
KbahJ. 

6 

,J tpahghu KOtijAk; fdtj;jpy; vLj;J 
cw;gj;jp> tpwg; id> epjp vd;gtw;Wld; 
njhlu; Gilajhf ,Ug;gjdhy;. gue;j 
,ay;gpid AilajhfTk;> xg;gPl;lstpy; 
nryT $ba jhfTk; ,Uf;fpwJ. 
 

ghjPl;Lld; xg;gpLkplj;J nryT $ba 
njhd;wy;y> Vnddpy;> ,J cw;gj;jpg; 
nghUnshd;wpd; fpua%yj;Jld; khj;jpuNk 
njhlu;GilaJ. 

7 ghjPLfs; epakq;fSld; khj;jp uNk 
nraw;gLj;jg;gl KbAk;. 

epakf;fpuatpay; Kiwik RNar;irahf 
nraw;gLj;jg;gLfpwJ. 

(03 marks) 
 
 

b) 
        

i) DMPV = (Std Price - Act. Price) X 
Act. 
Purchase 

  
= ((250 - (502,250/2,050)) X 2,050L 

  
= 

                      
10,250  F 

                   

ii) DMUV = (Std Usage - Act. Usage) X 
Std. 
Price 

  
= (400*5L - 2,050L) X 250 

  
= 

                      
12,500  A 

                   

iii) DMCV = (Std M. Cost - Act. M. Cost) 
  

  
= ((400*5L*Rs250) - 502,250) 

  

  
= 

                        
2,250  A 
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(02 Gs;spfs;)

(02 Gs;spfs;)

(02 Gs;spfs;)

(nkhj;jk; 12 Gs;spfs;)

(nkhj;jk; 30 Gs;spfs;)

	 iii)	 Neu; nghUs;	 =	 Neu; nghUs; 	 +	 Neu; nghUs;
		  fpua Kuz;		  tpiy Kuz;		  ghtid Kuz;

			   =	 10,250 F + 12,500 A
			   =	 2,250 	 ghjfk;

		  my;yJ

		  Neu; nghUs;	 =	 epak Neu;        	 -	  cz;ik Neu; %yg;

		  fpua Kuz;		  %yg;nghUs; fpuak;		 nghUs; fpuak;

			   =	 (400 x 1,250)  -  502,250
			   =	 500,000 - 502,250
			   =	 2,250 	 ghjfk;

	 iv)	 Neu;f; $yp tPj Kuz;	 =	 nfhLg;gdT	 x	 (epak tPjk;  -  cz;ikahd tPjk)
				    nra;ag;gl;l cz;ik

				    kzpj;jpahyq;fs;

			   =	 1,500 (125 - 150)
			   =	 37,500 	 ghjfk;

	 v)	 Neu;f; $yp	 =	 epaktPjk 	 x	 (epak Neuk; - cz;ikahd Neuk)
		  tpidj;jpwd; Kuz	
			   =	 125 (400 x 4 - 1,500)
			   =	 125 (1,600 - 1,500)
			   =	 12,500 	 rhjfk;

	 vi)	 epiyahd cw;gj;jp	 =	 ghjplg;gl;l Nke;jiyf;  -   cz;ikahd 

		  Nke;jiyfspd;		  fpuak 				   Nke;jiyf;fpuak

		  nrytpd; Kuz;

			   =	 280,000 - 300,000
			   =	 20,000 	 ghjfk;

(02 Gs;spfs;)

gpupT  D  ,d; epiwT
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Notice : 

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”.
The fundamental objective of this publication is to add completeness to its series of study texts, 
designs especially for the benefit of those students who are engaged in self-studies. These are 
intended to assist them with the exploration of the relevant subject matter and further enhance their 
understanding as well as stay relevant in the art of answering questions at examination level.
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